6 Tl Tny NN MWD 8 YN 1 NHYTD NNDIN .3

DNDN ONYI HNLVLIN
nMaAvn

I
9
1)_; e X _4x/3 x_”x +—\/7 2x+C 2)5In|x|+gcot3x+%tan4x+c

B, ol B x

+C 4)—(2x—3)11+C 5) arctan— 6)—arcsm—
22 2 3 2

NG

+C 8)—I

3)6sin g COS6X

3

7)—In
)3

X
xff

10)3sin 2 4 2sn5—g+c 11)C——cos(2x+ a)—ﬂz""x 12)isjn6x+%x+c

\@x+ 3x2—2

9)lsin2x—isin8x+c
4 16

l3)x—l—2ln|x|+C 14) §x\/§+2\/§+c 15) EX x——xl%/7+i\/7+c
X

12 ¢ 33

16) 2x— Y72x° +2J0x2 +C 17) In|x|—i+C 18)C- x+O5In1+X
5 2 4xt

-X

X X X
19) arcsinx+In (x+v1+x%)+C 20) 425 % ¢
In4 In6 In9
1

EO'SXJFC 22)056”X —eX+x+C  23)5coshx—3sinhx+C
n

24)—x—cotx+C 25 -x+tanx+C  26) —0.25(1-3x)*'3+C

27) —0.4+/2-5x+C 28) —25(1-x)?°+C 29) —0.2c0s5x — xsin5a +C
30) —0.5cot(2x+7/4)+C 3D tan(x/2)+C 32) —cot(x/2)+C
12 11
1-x" (1-x) LC
12 11

35)%((x+1)3’2—(x—1)3’2)+c 36) —

21)—i0.2"+
In5

33) 34) 0.5x% - x+In |1+ x|+C

8+ 30X

37)C-x(1-Inx) 38)C—(x+De* 39C —% X2 c033x+2—270033x+§xsin3x

2
4O)xarcsin2x+%\/1—4x2+c 41)C—gx+9+x arctan5

3

3sin5x—5c0s5x o3 3sin3x— 2c0s3x o2

42) +C 43

3 +C
44)5\/5—x2 +garcsini+c 45)§Vx2+8+4ln

X+Vx%+8
J5
46.2)_ (2x I+Cc  pC-V1-x¥* 025 Ja+x)* +C
d) C-0.25In|3-2x?| e)C—05/(1+x2)

2
47. a)0.25arctanx7 +C b) V2 In

+C

Al

3
2
48.a)C—%e‘X b)cos=+C c)%\3/8x3+27+c d)|n35X+C &)In[In(inx)|+C
X




6 Tmn2 Tny NN MWD 8 YN 1 NHYTD NNDIN .}

f)0.5ln1+san+C or Intan(£+§J+C
1-sinx 4 2
o) iactan?x+C  h)C—— he—tan[ Z-X]  jC+tanX
2 arcsinx 4 2 2

49.a)arcsinx—\/1—x2+C b)gln(x2+9)—%arctan§+c

c)C—-8v5+2x-— G —3arcsinXT_61 d)O.5In(x2 42X+ 2) +arctan(x+1)+C
(x=4)?

x+1+\/x2+2x+2 %3
X_

50. a)1—129n62x+c b)C—éInlcosle c)C+%In|sin3x| d)

e 3 X2 +2x+2-4In +C f)In +C

2

\/COSX

+C

1- cosx
1+ cosx

+C or In +C

1
e)=In
)2

tan=>
2

51.8)Ssin2x——Lsin8x+C  b)3sinS+3sn24+C  ¢)C—Leos(2x+a)— N3y
4 16 6 5 6 4 2
d)isin6x+1x+c e)C—10035x+i00335x
12 2 5 15
f)lsin4x+isin8x+§x+c g)itan27x+lln|cos7x|+c
8 64 8 14 7

52.a)In| (x—2)(x+5) |+C b)C—x+%x2 +gln|x+2|+%ln Ix-1]

c)x+lln|x|—gln|x—2|+§ln | x-3]+C d)i+lln|x2 -1|+C
6 2 3 x+1 2
O in x=1]-1In(@ + x+ 1) + = arctan 224 ¢
3 6 V3 V3

53) 2&+2ln\\/§—q+c 54) 4@—16|n‘\/ﬁ+4‘+c

55) 1.5In|§/x7+1|+c

56)§t5—2t3—3t2+3|n‘t2—t+4+2¢§actm2t_l+c,t:?/?

J3
572 X ¢ s8-X ic 59 tacanXil ZX +C
9 %219 1—x2 16 2 8xc+4

DNV INNVINX IINNIN

arcsinx J2

2
DactaneX+C  2)——1  +C 3—Larcsin \/ésinx +C Xt
3 2 X242

5) |

Ja?sin? x+b? cos? x 05sinx?/(a] ., a?#b?

- 26n2 2 2 2 12y A2.pk2
Sin X COSX dx_C+{\/a sin“ x+b“cos” x/(a“-b“) ,a“ #b

C



6 703 TNy NN MWD 8 YN 1 NHYTD NNDIN .}

In(1+ cos? X) — cos? X

6) tan X —cot X+ C 7) > +C 8) (arctgy/x)? +C
9) 6t—6t2+2t3—gt4+gt5 —gt7+3ln(1+t2)—6arctant+c, t=%x+1

2 2
10) 2X4+1 2+ X+ X2 +gln(%+ X+V2+ X+ x2j+C 11) C - X 2+le_X

12) 2+ en2x+ S sindx——sn®x+C 13) x—%ln(1+ e?)—e Xarctane* +C

x-1
3X+1

2x+1 2 9 . 2x-1
2+ X—X +§arcsm

2 —
14) 1Inﬂ+iarctan 2x-1

6 x2_x+1 /3 J3

16) %(sz —2xsin2x—-cos2x)+C  17)

+C 15) 0.25In +C

+C

COS4 X

; 2
+C 19)Inflesin+C  20)in— LTSN
8 (1-sinx)(3+sinx)

X
2X+5

18) - 1 arctan
12

005 0.25Inx
2x+5  (2x+5)?

+0.01ln +C

21) In|x|—:—13In|x3+1|+C 22)




6 TN g TNy NN MWD 8 YN 1 NHYTD NNDIN .}

nnnng

1-x 1 2
13)( j =—-——+1 17) x4+x_4+2:(x2+x_2)2
X X

2
X
2 x2_1+1 1 J14x2 41— x2 1 1
18) 5= 5 = —1+—2 19) = +
1-x= 1-x 1-x 1-x4 \/1— X2 \/1+ x2

20) (2% +3%)2 = 22X | 0. gX 1 32X
X+1 x-1 X X 3x X 2X X
2 5 (1) 1(1) 22)e +1_(e*+D(e™ -e +1):e2X—eX+1

22— =2 -2
10%

5

5

2

eX+1 eX+1
25) tgzx =-1+ >

28) %1—2x+ x2 =(1- x)2/5
sin“x COS”~ X

31D 1+cosx= 2c052(x/2) 32)1-cosx = 25in2(x/2)
33) x@1- )10 = —(c1+1- 9)a- %10 = —@- 911+ 1 %10

24) ctgzx:—1+

2_ CJxrl-x-1
34)x 1+1:x—1+ 1 35) 1 X+1-+/Xx-1
1+x Ixr1edx-1  (x+1)—(x-1)
36) x\/2—5x:%(2—2+5x)\/2—5x:—«/Z—SX—%(Z—SX)S/Z
1 3
46.c)_[x231+x3dx_ X J'\/_dt
3x2dx dt
xdx 2 X dx 2
d)_[ 3-2x° =t e)jﬁ 1+x° =t
3-2x° (1+x9)
xdx xBdx 1 dx?
47.a) == t, b) ==
J‘4+x I4+x -2 4xhH?%-2

48.a)xdx = — = d(—x2) b)—xz—d(lj c)xzdx:ld(x% d)%zd(lnsm
2 X2 X

o dx _ d(Inx) :|Inx:t|— dt d(Int) du
X InxIn(Inx)  InxIn(Inx) tIn(t) Int u
xdx d(1 x) 1,du
49.a) =—= -—|—=
e e P el
J~ 1+X J- J- xadx
e



6 TIN5 TNy NN MWD 8 YN 1 NHYTD NNDIN .}

5+ 2X— X% = —(x? - 2x—5) =
(8x—11) dx (8(t+1)-11)d
QI_______::_KX_DZ_I_QLZG_W_DZ:I___gtET_‘:

/ 2
5+2X=X" |x_1=t,dx=adt

8tdt 3"-

V612 )

x=3tant, dx= 30t/ cos’t

3
57. Zis’/z:x2+9=9(tan2t+l):9/coszt =IC(;S7t 3d; =
cos“t
(x*+9) (x% +9)%2 = 27/ cos®t
1 1. 1 X
—jcost dt==sint+C== +C
9 9 9Jx%+9
X=sint, dx= costdt
58, dx _ cost3dt ant+C = X .C
1- x):”/2 1-x* = cos’t cos’t 1-x
X = 2tant, dx = 2dt / cos’t
59. %: X2+ 4=4(tan’t +1) = 4/ cos t _IC?LSGt 2t =—j cos?t dt =
cos’t
(¢ +4) (X% +4)? =16/ cos*t
X
x:2tant:>t:arctan§
1 —1+C052t dtzit+isin2t+C: X 5 =
8 2 16 32 sin2t =2sintcost =2
\/x2+4\/x2+4
iarctan§+} 2X +C
16 2 8xc+4
DMV INDVIN NN
efdx . d(e¥) %
1. = = =arctane” +C
je re X eyl Y1

J- cosxdx J.d(\/_sinx) iarcsm[\/asmx}rc
J2+0052x V2 J3_ognZx N2

sinx cosx .
dx  a?sin®x+b?cos® x=t

\/azsin2 X+ b2 cos? x




6 TN 6 TNy NN MWD 8 YN 1 NHYTD NNDIN .}

: 3 3
sinxXcos” X cos” X dz* 1
e e R P | T
9+ cos” x 9+ cos” X 9+ 78 9+ 78 9+t
4
—iarctan €5 Xic
12 3
2c032§—23in§cos5 cosé—sin5
19)Icosx—5|'nx+1dxzj i %( %( :I i %(dx:
cosx+sinx+1 2c0s? = + 25N~ cos— COS~ +sin—
2 2 2 2 2

2d (cosx +sinxj
2 2

X . X
X COSE'FSnE
COS— +Sin—

2 2

+C=In[L+sin+C




